This document contains ten questions formatted appropriately for importing into Respondus.  

· Question 1: Multiple choice

· Question 2: Multiple choice, with feedback

· Question 3: Multiple answer, with feedback
· Question 4: True/False

· Question 5: Essay

· Question 6: Fill in the blank

· Question 7: Fill in the blank, with feedback

· Question 8: Matching

· Question 9: Matching, with distractors

· Question 10: Multiple choice, with use of symbol font

· Correct answers are identified with asterisks (*).  

· Response level feedback (eg: Question 2) is identified with the ‘at’ symbol (@).

· Correct question level feedback (eg: Question 3) is identified with the ‘tilde’ (~).

· Incorrect question level feedback (eg: Question 3) is identified with the ‘at’ symbol (@).

1) The colour of a ‘stop’ light is:

a) green

*b) red

c) purple

d) blue

2. Identify the largest living land-based carnivore.

a. killer whale

@ No.  The killer whale is not a land-based animal.

b. elephant

@ No.  The elephant is not a carnivore.  Try again.

*c. polar bear

@ Well done.  You’ve correctly identified the polar bear.  Did you know, by the way, that although the fur of a polar bear is white, the skin is black?

d. lion

@ No.  Although the lion is a land-based carnivore, it is not the largest in this list.

Type: MA

3) Identify the flags of nations beginning with the letter ‘C’.

@  Sorry, but that’s not correct.  The flags shown here are from Burundi, Cameroon, China and Yemen.  You should try this question again.

~ Well done!  You correctly identified the flags of Cameroon and China.
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4) This is a duck. [image: image5.png]



*a) True

b) False

Type: E

5) Describe the positive and negative effects of Harry Potter on today’s society.  (Suggested essay length = 1000 words)
a) If teaching staff have chosen to show answers upon submission, students will be presented with an answer for the essay question even though it must be manually graded.  One possible use is to provide a model answer and/or advise students that the question requires manual grading.

Type: F
6) How many years in a decade?

a) ten

b) 10

Type: F

7) A century consists of how many years?

~ Well done!  There are indeed 100 years (10 decades) in a century.

@ No, that’s not correct.  You should have a think about this question and attempt it again.

a) 100

b) one hundred

c) hundred

d) a hundred

Type: MT
8) Match the following automobile makes and models.
a. Holden = Camira

b. Ford = Falcon

c. Toyota = Camry

d. Hyundai = Getz

Type: MT

9) Match the AFL teams with their mascots.

a) Essendon = Bombers

b) Collingwood = Magpies

c) Melbourne = Demons

d) Hawthorn = Hawks

e) = Saints

f) = Dockers

10) What is the symbol for beta in the Greek alphabet?

a) (
*b) (
c) (
d) (
e) (
f) (
g) (
